
 
      
LO: To Multiply a 2 digit by 1 digit. 

1. 24 x 4 =____________ 
 
X 20 4 
4 80 

 
16 

 
 

  8  0 
+1 6_ 
_____ 
 

2. 63 x 6 =____________ 
 
X 60 3 
4  

 
 

 
 
+ 
________ 
________ 
 

3. 87 x 5 =____________ 

 
 
+________ 
_________ 
 

X   
  

 
 



Now can you use the grid method to solve these 
multiplications? 
 
4 6  X 9 =                                                = 4 X  73 
 
 
 
 
 
 
There are 5 ice-creams in a box. 

 Alex buys 37 boxes of ice-creams. How many ice-creams does she 
buy altogether? 

 
 
 
 
 
 
 
 

Greater depth 
 

Chen uses these digit cards. 

1      3    2 

She makes a 2-digit number and a 1-digit number. 

She multiplies them together. 

Her answer is a multiple of 3 

What could Chen’s multiplication be? 

  

 


